BC-02

June — Examination 2022

B.Com. (Part I) Examination

Business Statistics
Paper : BC-02

Time : 1% Hours | [ Maximum Marks : 70

Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.
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Section—-A 4%x3%,=14
(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of
the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 3%z marks.
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What is collection of Data ?
THHT hT UG M E ?

Mention fwo merits of Mean ?

e & GO N I HIT |

What is Index ?

Gehih F Y ?

What are the rwo advantages of Business
Forecasting ?

MR JEgHE % & FER 7 T 7
What is the definition of time series ?
T SO T GRS F T 2

What is Conditional Probability ?
e Weshdr ¥ ?

(vii) What is Positive and Negative Correlation ?

HRNICHF TS THNHEF -y o & ?

(viil) What is Skewness ?

fooman == ® 2
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Section-B 4x14=56 frfafea aaewt & mftas Ta Sgers &1 T SIS

(Short Answer Type Questions) BT SEHR smafy
Note -— Answer any four questions. Each answer should not 15 5
exceed 200 words. Each question carries 14 marks. 95 9
aus—s 35 13
(T ST TT) 45 21
e - fordl e gedl & SW T e e sW W 55 20
sifgRam 200 veal # afEfra wifve ) g@w e 65 15
14 3% &1 T s )

2. What do you know about Statistics ? What are its

characteristics ? 85 3
Tifers A oY T TS ¥ 7 SOl s wn 4. The following data shows the ages (X) and Blood
) Pressure (Y) of 8 persons :
3. Calculate the Median and Mode from the following X Y
data : 50 62
Central Size Frequency 63 53
15 5 45 51
25 9 36 25
72 79
35 13
45 21 65 43
47 60
55 20 95 33
65 15 : : :
Obtain the regression equation of Y on X and find
75 6 the expected blood pressure of a person who is 49
85 3 years old.
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frfafeaa ads 8 =afwa &t 57 (X) 3R WA (Y)

T ¥
X Y
52 62
63 53
45 51
36 25
72 79
65 43
47 60
25 33
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5. Below are given the figures of production (in
thousand quintals) of a sugar factory :

Year Production
2013 80
2014 90
2015 92
2016 83
2017 94
2018 99
2019 92

Fit the straight line trend of these data.
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EL] e (feded aoRl )
2013 80
2014 90
2015 92
2016 83
2017 94
2018 99
2019 92
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6. From the following data calculate Fisher’s Index :

Commodities Po 49 Py q
A 1220 15 25

B 10 8 16 10

C 15 2 12 1

D 60 1 65 1

E 3 2 10 1

=1 Tl 9 fReR @1 gese fHefan :

hadkiicl Pp 9 Pi %

A 1220 15 25

B 10 8 16 10

C 15 2 12 1

D 60 1 65 1

E 3 2 10 1
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7. Define Probability and explain the importance of
the concept in statistics.

Tifaerar i aRwifog wifst @ Aifeast #3961
STAURON & Hexd i AT HIfS |

8. Define Karl Pearson’s coefficient of correlation and
what is it intended to measure ? What are its
characteristics ?

Fel o & gearery-Tone w1 aRkwifia #ifse @
IE N A & fAw S § 2 sEeRt fomivand = € ?

9. Explain the meaning, types and importance of

time series.
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